®) T ws\\—

= S-yo

wtt Walid., =4 die A 2

Ve vw\oaa‘

“

6



\/&c LOw.....x’ e A,gé Ler 7
(MAS%WLF N \N( A0, ng’Z.-.>

By (X > Kal =4S




o Lo ¢ 1\—’&&} q—«zxj

WA wlStes K B \6() 4> A Y @Uf
60 ~s

PLyx=\1= <5()>(/ _ (e;uo?eUr(L,""r%)

Prreld= 5 )@ m“*‘l—wa; (wbo )

AATLAD  lhwocdd (0:40, 60, 4/5)

5. S«%Hz L 00,0207

PLX £ 4= 2,02 %

P LY < S\ e ST

= 04,7,7%,6 Lo oo de Veow~Reed- K
Lok cader

s— G S‘,q,l(‘t.



bivoedd (M:120, 60, 4/)
S S«,a\h: 0,366
Plxeis § & 36,627
= PLx =4\ = 3,3%%
. grcu‘(,‘ 0, 3% 36
@ X6\ = 38, 3 7o
=S PO AT e AL4To guk | de < 2,57

—
G

LS
2

= \ = 30,47 ’S,bf AF 48, -, (O}

7_‘ %w‘m.“oh: é
8. Y;w\,, & \/( 0,\90 | H—o W:cH' V-(Mor&_

y




A.— S. Aie o\ocv\
=+. fcé,,"‘-’- é \a ga’\/*z Tes oo \_3.318 ‘3_...,145« re

¥ . ed)alll b/ /\0 ad
3. pMWed = 2 PLX €€ |
= - b\uoc.d4f<é,60/u!/é)
o QAET > SU =d
AV, Ny eird eldd veeoorde



\/Q,r&’ r-ou/umgk..\orvg&“ &,;‘— R
WL wbuLef l«)aﬁd‘;.ﬂ-. W‘QD‘AN’ o de \«m‘\.jfl

L A
2 G o

Cesbionne 2C%-VT

/. HQ: = WS,

2. by 5 F LS

R Y = 4 [lamxs 60 Lenrf—

, ¥~ Be= (60, 52)

e 2= SY Ja d8%-VL exnd
- e___%al,l(’ 8

2 o€ (Ledondded)

£. PR 4&&4'




‘.’S/KO (P[:Yéél < Q_/S-c%,_:%_
7 t
%.\\&bcc\& (6/60, u@) o(quws w"vl VWQpP
(XAS%U-‘!' Wem~ o aw#

PLY26( € 2,$%
— ‘wwc& e ?
A ‘0 4'(&;6.0/ U) A&“‘ w\\} V\rw(’r?\'

cetot e wp addr Llen :{4"

()O



